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00030000000 05%0 0 (ma(c,5)/ma(c,10)) between 0.95 and 1.05 and
(ma(c,5)/ma(c,20)) between 0.95 and 1.05 and (ma(c,10)/ma(c,20)) between 0.95 and 1.05;
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0000000000000 0000000000000000N:=3{0000
00000000000 00000000M=1{0000000000000
0000000000000 M=MA(CS5);B:=MA(C,10):D:=MA(C,20);E:=HHV(M
AX(MAX(A,B),D),N):F:=LLV(MIN(MIN(A,B),D),N):XG:(E-
F)/F*100<M:0000000000000000
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0000000000000 0000000000000000ND=30
(0000000000000 0000000000MO=10
(0000000000000 0000000000000AD=MA(COS5)0
BO =MA(CO 10)0J

DO =MA(CO 20)0

ED =HHV(MAX(MAX(AD B)CO D) N)O

FO =LLV(MIN(MIN(AD B)O D)0 N)OI

XGO (E-F)/F*100&It0

MO

0000000000000000
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Jobgodooogsiouibuidongodonn

M1:=MA(C,5); M2:=MA(C,10); M3:=MA(C,20); O :=MAX(M1,MAX(M2,M3)):
0 :=MIN(M1,MIN(M2,M3)); 0 O O O :LLV((C -
0 )/0 *100<0.5,3)ANDM1>REF(M1,1);
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MA10 =MA(CLOSED 5)0

MA20 =MA(CLOSED 10)0

MA30 =MA(CLOSED 20)0]

A =MAX(MAX(MA10 MA2)C MA3)0
B =MIN(MIN(MA10 MA2)C MA3)0
DO =A/B0

XGO BETWEEN(DO 0.990 1.01)0
0000000000000000
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00000 0000000000
00000000000020000000000000000

00 000MI0=MA(CO 50

M20 =MA(CO 10)0

M30 =MA(CO 20)0

AAD =M1=M20

ABO =M3ACO =BETWEEN(M30 REF(M3[] 1)+0.010 REF(M30 1)-0.007)0]
ADI =COUNT(ACO 3)=30

AEO =AA AND AB AND V&gt[l

10

AFO =M1&gt0

REF(M10 1) OR (M2&gt0]

REF(M20 1) AND M3&gtC]

=REF(M30 1))

AE AND AD AND AFC]

(000}
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000 O0n0 00 1,60,100 M1:=MA(C,5):M2:=MA(C,10);:M3:=MA(C,20);0 :=MAX(
M1,MAX(M2,M3)):0 :=MIN(ML,MIN(M2,M3)):0 0 0 O :=LLV((O -
[0)/0 *100,3)<1.0;EVERY(C O O O ,N);

Jogoogodbodbooboobouogo

M10 =MA(CO 5)0

{0 00005 M20 =MA(CO 24)0

{00 00024} M30 =MA(CO 72)0
(000o072{000000000000}

D10 =BARSLAST(CROSS(M10 M2))[

{0 0 00} D20 =BARSLAST(CROSS(M10 M3))[

{0 0 00} D30 =BARSLAST(CROSS(M20 M3))[

{0 000} T10=CROSS(M10 M2) OR CROSS(M10 M3)0I
(0000000000000 00)}T20=ABS(D1-D2)&It0
=NDO

{(000000NTOTLAND T20

(0000

Joogogoboogspbzoutongbgooon
Joooooououododooboobooonoogogo

M10 =MA(CO 5)0

M20 =MA(CO 10)0

M30 =MA(CO 20)0

0 0 0 =MAX(M10 MAX(M20 M3))O
000 =MIN(M10 MIN(M20 M3))0
000000 0LLV((O -0)/0 *1000 3) &ItD
0.5 AND M1&gt]
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